



Research Article

## H-E-Super Magic Graceful Labelings of Graphs

Duraisamy Kumar<sup>\*1</sup> , Elakkiya Mohankumar<sup>2</sup> , J. Sebastian Lawrance<sup>1</sup>  and M. Bhuvaneshwari<sup>1</sup> 

<sup>1</sup>Department of Mathematics, SRM TRP Engineering College (affiliated to Anna University), Tiruchirappalli 621105, Tamil Nadu, India

<sup>2</sup>Department of Mathematics, School of Engineering, Presidency University, Bengaluru 560064, India

\*Corresponding author: dkumarcnc@gmail.com

Received: August 15, 2024

Revised: November 22, 2024

Accepted: April 3, 2025

**Abstract.** This article examines *H-E-Super Magic Graceful Labelings (H-E-SMGL)* of graphs. These labelings provide a systematic way to analyze how graphs can be decomposed into subgraphs with specific properties, particularly in the context of *H-coverings*. We investigate several families of graphs, including fans, books, and grids admits *H-E-SMGL*.

**Keywords.** *H*-covering, *H*-magic labeling, *H-E*-super magic graceful labeling

**Mathematics Subject Classification (2020).** 05C78

Copyright © 2025 Duraisamy Kumar, Elakkiya Mohankumar, J. Sebastian Lawrance and M. Bhuvaneshwari. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

### 1. Introduction

In this article, we take finite simple undirected graphs. In a graph  $G(p, q)$ , the set of vertices and edges is represented by  $V(G)$  and  $E(G)$  respectively, where  $p = |V(G)|$  and  $q = |E(G)|$ . Different types of labeling have been studied and investigated by Gallian [1] provides a comprehensive summary of graph labeling (also see, Hafez *et al.* [4], Ichishima and Muntaner-Batle [5], Iyappan *et al.* [6], Kavitha *et al.* [7], Kumar *et al.* [9], and Mutharasu *et al.* [12]).

A group of subgraphs  $H_i$ ,  $1 \leq i \leq h$  that ensures every edge of  $E(G)$  is a member of one or more of the subgraphs  $H_i$ ,  $1 \leq i \leq h$  constitutes a covering of  $G$ . It is then claimed that  $G$  accepts a covering of  $(H_1, H_2, \dots, H_h)$ .  $G$  permits a *H*-covering if each  $H_i$  is isomorphic to a given graph  $H$ . Assume that  $G$  accepts a covering of  $H$ . The term *H*-magic labeling of  $G$  refers to a total

labeling, which is a one-one  $\mu$  from  $V(G) \cup E(G)$  onto  $\{1, 2, \dots, p+q\}$ , if  $\sum_{v \in V(H')} \mu(v) + \sum_{e \in E(H')} \mu(e) = M$  for any subgraph  $H'$  of  $G$  that isomorphic to  $H$ . A graph that permits for this type of labeling is called  $H$ -magic. If  $\mu(E(G)) = \{1, 2, \dots, q\}$ , then the function  $\mu$  is considered as  $H$ -E-super magic labeling ( $H$ -E-SML).

The  $H$ -magic labeling was defined by Gutiérrez and Lladó [3]. Lladó and Moragas [10] examined a few  $C_n$ -supermagic graphs.  $\beta$ -valuation is a labeling that was defined by Rosa [13]. A graceful labeling of  $G$  is an injection  $f$  from the vertices of  $G$  to  $\{0, 1, \dots, q\}$ , provided the labels that follow from assigning the label  $|\mu(u) - \mu(v)|$  to each edge  $uv$  are distinct (see Kumar and Marimuthu [8] for additional details on  $H$ -E-SML).

An  $H$ -E-SMGL is an one one onto  $\mu$  from  $V(G) \cup E(G)$  onto  $\{1, 2, \dots, p+q\}$  with the condition that  $\mu(E(G)) = \{1, 2, \dots, q\}$  such that,  $\sum_{v \in V(H')} \mu(v) - \sum_{e \in E(H')} \mu(e) = M$  (Murugan and Kumar [11]). We investigate  $H$ -E-SMGL of fans, graphs obtained by joining a star  $K_{1,n}$  with one isolated vertex, books and grids.

## 2. $C_3$ -E-Super Magic Graceful Graphs ( $C_3$ -E-SMGL)

The  $C_3$ -E-SMGL of some connected graph, such as fans, which are graphs formed by combining a star  $K_{1,m}$  with a single isolated vertex, is addressed in this section.

**Theorem 2.1.** Let  $n (\geq 2)$  be a positive integer. Then  $F_n$  is  $C_3$ -E-SMG.

*Proof.* Let  $V(F_n) = \{a_i, c : i = 1, \dots, n\}$  and  $E(F_n) = \{a_i a_{i+1} : i = 1, \dots, n-1\} \cup \{a_i, c : i = 1, \dots, n\}$ . Describe a function  $\mu$  from  $V(F_n) \cup E(F_n)$  onto  $\{1, \dots, 3n\}$  as follows:

$$\mu(t) = \begin{cases} 3n, & \text{when } t = c, \\ 2n + \frac{1}{2}(i-1), & \text{when } t = a_i \text{ for } i \equiv 1 \pmod{2}, \\ \left\lfloor \frac{1}{2}(5n+i-1) \right\rfloor, & \text{when } t = a_i \text{ for } i \equiv 0 \pmod{2}, \end{cases}$$

$$\mu(e) = \begin{cases} n-i, & \text{when } e = a_i a_{i+1} \text{ for } i = 1, \dots, n-1, \\ n-1+i, & \text{when } e = c a_i \text{ for } i = 1, \dots, n. \end{cases}$$

For  $i = 1, \dots, n-1$ , let  $C_3^{(i)}$  be the subcycle of  $F_n$ . The associated subcycles are  $V(C_3^{(i)}) = \{c, a_i, a_{i+1}\}$  and  $E(C_3^{(i)}) = \{ca_i, a_i a_{i+1}, c a_{i+1}\}$ . Now we prove that  $f\mu$  is  $C_3$ -E-SMG.

For  $1 \leq i \leq n-1$ ,

$$\begin{aligned} \sum_{v \in V(C_3^{(i)})} \mu(v) - \sum_{e \in E(C_3^{(i)})} \mu(e) &= \mu(c) + \mu(a_i) + \mu(a_{i+1}) - \mu(a_i a_{i+1}) - \mu(c a_i) - \mu(c a_{i+1}) \\ &= 3n + 2n + \frac{1}{2}(i-1) + \left\lfloor \frac{1}{2}(5n+i) \right\rfloor - (n-i) - (n-1+i) - (n+i) \\ &= \left\lfloor \frac{1}{2}(9n+1) \right\rfloor. \end{aligned}$$

Hence  $F_n$  is  $C_3$ -E-SMG. □

**Theorem 2.2.** The graph  $G \cong K_{1,n} + K_1$ ,  $n (\geq 1)$  is  $C_3$ -E-SMG.

*Proof.* Let  $V(G) = \{a_1, a_2, b_j : i = 1, \dots, n\}$  and  $E(G) = \{a_1 a_2\} \cup \{a_i b_j : i = 1, 2; 1 \leq j \leq n\}$ . Describe a function  $\mu$  from  $V(G) \cup E(G)$  onto  $\{1, 2, \dots, 3n+3\}$  as follows:

Suppose  $n$  is odd:

$$\mu(s) = \begin{cases} 2n+1+i, & \text{when } s = a_i \text{ for } i = 1, 2, \\ 3n+3-(i-1), & \text{when } s = b_i \text{ for } 1 \leq i \leq n, \\ 1, & \text{when } s = a_1a_2, \\ \frac{1}{2}(n+3+2i), & \text{when } s = a_1b_i \text{ for } i = 1, 2, \dots, \frac{n-1}{2}, \\ \frac{1}{2}(-n+3+2i), & \text{when } s = a_1b_i \text{ for } i = \frac{n+1}{2}, \frac{n+3}{2}, \dots, n, \\ 2n+2-2i, & \text{when } s = a_2b_i \text{ for } i = 1, 2, \dots, \frac{n-1}{2}, \\ 3n+2-2i, & \text{when } s = a_2b_i \text{ for } i = \frac{n+1}{2}, \frac{n+3}{2}, \dots, n. \end{cases}$$

Suppose  $n$  is even:

$$\mu(t) = \begin{cases} 2n+1+i, & \text{when } t = a_i \text{ for } i = 1, 2, \\ 3n+3-(i-1), & \text{when } t = b_i \text{ for } 1 \leq i \leq n, \\ \frac{n+2}{2}, & \text{when } t = a_1a_2 \\ \frac{2n+3-i}{2}, & \text{when } t = a_1b_i \text{ for } i = 1, 3, \dots, n-1, \\ \frac{n+2-i}{2}, & \text{when } t = a_1b_i \text{ for } i = 2, 4, \dots, n, \\ \frac{3n+3-i}{2}, & \text{when } t = a_2b_i \text{ for } i = 1, 3, \dots, n-1, \\ \frac{4n+4-i}{2}, & \text{when } t = a_2b_i \text{ for } i = 2, 4, \dots, n. \end{cases}$$

Let  $C_3^{(i)}$  be the subcycle of  $G$  for  $1 \leq i \leq n$ , and let  $E(C_3^{(i)}) = \{a_1a_2, a_1b_i, a_2b_i\}$  and  $V(C_3^{(i)}) = \{a_1, a_2, b_i\}$ .

Case 1: Suppose  $n$  is odd.

Subcase 1: For  $i = 1, 2, \dots, \frac{n-1}{2}$ ,

$$\begin{aligned} \sum_{v \in V(C_3^{(i)})} \mu(v) - \sum_{e \in E(C_3^{(i)})} \mu(e) &= \mu(a_1) + \mu(a_2) + \mu(b_i) - \mu(a_1a_2) - \mu(a_1b_i) - \mu(a_2b_i) \\ &= (2n+2) + (2n+3) + (3n+3-i+1) - (1) \\ &\quad - \left( \frac{1}{2}(n+3+2i) \right) - (2n+2-2i) \\ &= \frac{9n+9}{2}. \end{aligned}$$

Subcase 2: For  $i = \frac{n+1}{2}, \frac{n+3}{2}, \dots, n$ ,

$$\begin{aligned} \sum_{v \in V(C_3^{(i)})} \mu(v) - \sum_{e \in E(C_3^{(i)})} \mu(e) &= \mu(a_1) + \mu(a_2) + \mu(b_i) - \mu(a_1a_2) - \mu(a_1b_i) - \mu(a_2b_i) \\ &= (2n+2) + (2n+3) + (3n+3-i+1) - (1) \\ &\quad - \left( \frac{1}{2}(-n+3+2i) \right) - (3n+2-2i) \\ &= \frac{9n+9}{2}. \end{aligned}$$

Case 2: Suppose  $n$  is even.

Subcase 3: For  $i = 1, 3, \dots, n-1$ ,

$$\begin{aligned} \sum_{v \in V(C_3^{(i)})} \mu(v) - \sum_{e \in E(C_3^{(i)})} \mu(e) &= \mu(a_1) + \mu(a_2) + \mu(b_i) - \mu(a_1 a_2) - \mu(a_1 b_i) - \mu(a_2 b_i) \\ &= (2n+2) + (2n+3) + (3n+3-i+1) \\ &\quad - \left( \frac{n+2}{2} \right) - \left( \frac{2n+3-i}{2} \right) - \left( \frac{3n+3-i}{2} \right) \\ &= 4n+5. \end{aligned}$$

Subcase 4: For  $i = 2, 4, \dots, n$ ,

$$\begin{aligned} \sum_{v \in V(C_3^{(i)})} \mu(v) - \sum_{e \in E(C_3^{(i)})} \mu(e) &= \mu(a_1) + \mu(a_2) + \mu(b_i) - \mu(a_1 a_2) - \mu(a_1 b_i) - \mu(a_2 b_i) \\ &= (2n+2) + (2n+3) + (3n+3-i+1) \\ &\quad - \left( \frac{n+2}{2} \right) - \left( \frac{n+2-i}{2} \right) - \left( \frac{4n+4-i}{2} \right) \\ &= 4n+5. \end{aligned}$$

Hence  $G$  is  $C_3$ -E-SMG.  $\square$

### 3. $C_4$ -E-Super Magic Graceful Graphs

In this section, we investigate  $C_4$ -E-SMGL of grids and books.

**Theorem 3.1.** *The graph  $B_m = K_{1,m} \times K_2$ ,  $m \geq 2$  is  $C_4$ -E-SMG.*

*Proof.* Let  $V(B_m) = \{a_1, a_2\} \cup \{b_i, c_i : 1 \leq i \leq m\}$  and  $E(B_m) = \{a_1 a_2\} \cup \{a_1 c_i, a_2 b_i, b_i c_i : 1 \leq i \leq m\}$ . Describe a function  $\mu : V(B_m) \cup E(B_m) \rightarrow \{1, 2, \dots, 5m+3\}$  as follows:

Suppose  $m$  is odd:

$$\mu(s) = \begin{cases} 3m+1+i, & \text{when } s = a_i \text{ for } i = 1, 2, \\ 3m+3+i, & \text{when } s = b_i \text{ for } 1 \leq i \leq m, \\ 5m+4-i, & \text{when } s = c_i \text{ for } 1 \leq i \leq m, \\ 1, & \text{when } s = a_1 a_2, \\ 1+i, & \text{when } s = a_2 b_i \text{ for } 1 \leq i \leq m, \\ 3m+3-2i, & \text{when } s = a_1 c_i \text{ for } 1 \leq i \leq \lceil \frac{m}{2} \rceil, \\ 4m+3-2i, & \text{when } s = a_1 c_i \text{ for } \lceil \frac{m}{2} \rceil + 1 \leq i \leq m, \\ \frac{1}{2}(3m+1+2i), & \text{when } s = b_i c_i \text{ for } 1 \leq i \leq \lceil \frac{m}{2} \rceil, \\ \frac{1}{2}(m+1+2i), & \text{when } s = b_i c_i \text{ for } \lceil \frac{m}{2} \rceil + 1 \leq i \leq m. \end{cases}$$

Suppose  $m$  is even:

$$\mu(t) = \begin{cases} 3m + 1 + i, & \text{when } t = a_i \text{ for } i = 1, 2, \\ 3m + 3 + i, & \text{when } t = b_i \text{ for } 1 \leq i \leq m, \\ 5m + 4 - i, & \text{when } t = c_i \text{ for } 1 \leq i \leq m, \\ \frac{m}{2} + 1, & \text{when } t = a_1 a_2, \\ i, & \text{when } t = a_2 b_i \text{ for } 1 \leq i \leq \frac{m}{2}, \\ 1 + i, & \text{when } t = a_2 b_i \text{ for } \frac{m}{2} \leq i \leq m, \\ 3m + 3 - 2i, & \text{when } t = a_1 c_i \text{ for } 1 \leq i \leq \frac{m}{2}, \\ 4m + 2 - 2i, & \text{when } t = a_1 c_i \text{ for } \frac{m}{2} \leq i \leq m, \\ \frac{1}{2}(3m + 2 + 2i), & \text{when } t = b_i c_i \text{ for } 1 \leq i \leq \frac{m}{2}, \\ \frac{1}{2}(m + 2 + 2i), & \text{when } t = b_i c_i \text{ for } \frac{m}{2} + 1 \leq i \leq m. \end{cases}$$

Let  $C_4^{(i)}$  be the subcycle of  $B_m$  for  $1 \leq i \leq m$ , and let  $E(C_4^{(i)}) = \{a_1 a_2, a_2 b_i, a_1 c_i, b_i c_i\}$  and  $V(C_4^{(i)}) = \{a_1, a_2, b_i, c_i\}$ .

*Case 1:* Suppose  $m$  is odd.

*Subcase 1:* For  $i = 1, 2, \dots, \lceil \frac{m}{2} \rceil$ .

Then

$$\begin{aligned} \sum_{v \in V(C_4^{(i)})} \mu(v) - \sum_{e \in E(C_4^{(i)})} \mu(e) &= \mu(a_1) + \mu(a_2) + \mu(b_i) + \mu(c_i) - \mu(a_1 a_2) - \mu(a_2 b_i) - \mu(a_1 c_i) - \mu(b_i c_i) \\ &= (3m + 2) + (3m + 3) + (3m + 3 + i) + (5m + 4 - i) - (1) \\ &\quad - (1 + i) - (3m + 3 - 2i) - \left( \frac{1}{2}(3m + 1 + 2i) \right) \\ &= \frac{19m + 13}{2}. \end{aligned}$$

*Subcase 2:* For  $i = \lceil \frac{m}{2} \rceil + 1, \lceil \frac{m}{2} \rceil + 2, \dots, m$ .

Then

$$\begin{aligned} \sum_{v \in V(C_4^{(i)})} f(v) - \sum_{e \in E(C_4^{(i)})} \mu(e) &= \mu(a_1) + \mu(a_2) + \mu(b_i) + \mu(c_i) - \mu(a_1 a_2) - \mu(a_2 b_i) - \mu(b_i c_i) - \mu(a_i c_i) \\ &= 3m + 2 + 3m + 3 + 3m + 3 + i + 5m + 4 - i - 1 - (1 + i) \\ &\quad - (4m + 3 - 2i) - \left( \frac{1}{2}(m + 1 + 2i) \right) \\ &= \frac{19m + 13}{2}. \end{aligned}$$

*Case 2:* Suppose  $m$  is even.

*Subcase 3:* For  $i = 1, 2, \dots, \frac{m}{2}$ .

Then

$$\sum_{v \in V(C_4^{(i)})} \mu(v) - \sum_{e \in E(C_4^{(i)})} \mu(e) = \mu(a_1) + \mu(a_2) + \mu(b_i) + \mu(c_i) - \mu(a_1 a_2) - \mu(a_2 b_i) - \mu(a_1 c_i) - \mu(b_i c_i)$$

$$\begin{aligned}
&= (3m+2) + (3m+3) + (3m+3+i) + (5m+4-i) \\
&\quad - \left( \frac{m}{2} + 1 \right) - (1+i) - (3m+3-2i) - \left( \frac{1}{2}(3m+2+2i) \right) \\
&= 9m+7.
\end{aligned}$$

*Subcase 4:* For  $i = \frac{m}{2} + 1, \frac{m}{2} + 2, \dots, m$ ,

$$\begin{aligned}
\sum_{v \in V(C_4^{(i)})} \mu(v) - \sum_{e \in E(C_4^{(i)})} \mu(e) &= \mu(a_1) + \mu(a_2) + \mu(b_i) + \mu(c_i) - \mu(a_1 a_2) - \mu(a_2 b_i) - \mu(a_1 c_i) - \mu(b_i c_i) \\
&= (3m+2) + (3m+3) + (3m+3+i) + (5m+4-i) \\
&\quad - \left( \frac{m}{2} + 1 \right) - (1+i) - (4m+2-2i) - \left( \frac{1}{2}(m+2+2i) \right) \\
&= 9m+7.
\end{aligned}$$

Hence  $B_n$  is  $C_4$ -E-SMG.  $\square$

**Theorem 3.2.** *The graph  $G = P_t \times P_2$  is  $C_4$ -E-SMG.*

*Proof.* Let  $V(G) = \{a_i, b_i : 1 \leq i \leq t\}$  and  $E(G) = \{a_i b_i : 1 \leq i \leq t\} \cup \{a_i a_{i+1}, b_i b_{i+1} : 1 \leq i \leq t-1\}$ .

Describe a function  $f : V(G) \cup E(G) \rightarrow \{1, 2, \dots, 5t-2\}$  as follows:

$$f(s) = \begin{cases} 3t+i-2, & \text{when } s = a_i \text{ for } 1 \leq i \leq t, \\ 5t-i-1, & \text{when } s = b_i \text{ for } 1 \leq i \leq t, \\ 3i, & \text{when } s = a_i a_{i+1} \text{ for } 1 \leq i \leq t-1, \\ 3i-1, & \text{when } s = b_i b_{i+1} \text{ for } 1 \leq i \leq t-1, \\ 3t+1-3i, & \text{when } s = a_i b_i \text{ for } 1 \leq i \leq t. \end{cases}$$

For  $1 \leq i \leq t-1$ , let  $C_4^{(i)}$  be the subcycle of  $G$  with  $V(C_4^{(i)}) = \{a_i, a_{i+1}, b_i, b_{i+1}\}$  and  $E(C_4^{(i)}) = \{a_i a_{i+1}, b_i b_{i+1}, a_i b_i, a_{i+1} b_{i+1}\}$ .

For  $1 \leq i \leq t-1$ ,

$$\begin{aligned}
\sum_{v \in V(C_4^{(i)})} f(v) - \sum_{e \in E(C_4^{(i)})} \mu(e) &= \mu(a_i) + \mu(a_{i+1}) + \mu(b_i) + \mu(b_{i+1}) - \mu(a_i a_{i+1}) - \mu(b_i b_{i+1}) - \mu(a_i b_i) - \mu(a_{i+1} b_{i+1}) \\
&= (3t+i-2) + (3t+i-1) + (5t-i-1) + (5t-i-2) - (3i) - (3i-1) - (3t+1-3i) - (3t+1-3i-3) \\
&= 10t-4.
\end{aligned}$$

Hence  $G$  is  $C_4$ -E-SMG.  $\square$

**Theorem 3.3.** *The graph  $G = P_t \times P_3$ ,  $t \geq 2$  is  $C_4$ -E-SMG.*

*Proof.* Let  $V(G) = \{a_{i,j} : 1 \leq i \leq 3, 1 \leq j \leq t\}$  and  $E(G) = \{a_{i,j} a_{i,j+1} : 1 \leq i \leq 3, 1 \leq j \leq t-1\} \cup \{a_{i,j} a_{i+1,j} : 1 \leq i \leq 2, 1 \leq j \leq t\}$ .

Describe a function  $\mu : V(G) \cup E(G) \rightarrow \{1, 2, \dots, 8t-3\}$  as follows:

For  $1 \leq j \leq t$ ,

$$\mu(a_{i,j}) = \begin{cases} (\frac{i-1}{2})t + 5t - 3 + j, & \text{when } i = 1, 3, \\ 7t - 3 + j, & \text{when } i = 2, \end{cases}$$

$$\mu(a_{i,j}a_{i+1,j}) = \begin{cases} 3t + 2(j-1) - 2, & \text{when } i = 1, \\ 3t + 2(j-1) - 1, & \text{when } i = 2. \end{cases}$$

For  $1 \leq j \leq t-1$ ,

$$\mu(a_{i,j}a_{i,j+1}) = \begin{cases} t-j, & \text{when } i = 1, \\ t+j-1, & \text{when } i = 2, \\ 3t-j-2, & \text{when } i = 3. \end{cases}$$

For  $1 \leq i \leq 2$  and  $1 \leq j \leq t-1$ , let  $C_4^{(i,j)}$  be the subcycle of  $G$  with

$$V(C_4^{(i,j)}) = \{a_{i,j}, a_{i,j+1}, a_{i+1,j}, a_{i+1,j+1}\}$$

and

$$E(C_4^{(i,j)}) = \{a_{i,j}a_{i,j+1}, a_{i+1,j}a_{i+1,j+1}, a_{i,j}a_{i+1,j}, a_{i,j+1}a_{i+1,j+1}\}.$$

For  $1 \leq i \leq 2$  and  $1 \leq j \leq t-1$ , then

$$\begin{aligned} \sum_{v \in V(C_4^{(i,j)})} f(v) - \sum_{e \in E(C_4^{(i,j)})} \mu(e) &= \mu(a_{i,j}) + \mu(a_{i,j+1}) + \mu(a_{i+1,j}) + \mu(a_{i+1,j+1}) - \mu(a_{i,j}a_{i,j+1}) \\ &\quad - \mu(a_{i+1,j}a_{i+1,j+1}) - \mu(a_{i,j}a_{i+1,j}) - \mu(a_{i,j+1}a_{i+1,j+1}). \end{aligned}$$

*Case 1:* Suppose  $i = 1$ , then

$$\begin{aligned} \sum_{v \in V(C_4^{(1,j)})} \mu(v) - \sum_{e \in E(C_4^{(1,j)})} \mu(e) &= (5t - 3 + j) + (5t - 3 + j + 1) + (7t - 3 + j) + (7t - 3 + j + 1) \\ &\quad - (t - j) + (t + j - 1) + (3t + 2(j - 1) - 2) - (3t + 2(j) - 2) \\ &= 16t - 3. \end{aligned}$$

*Case 2:* Suppose  $i = 2$ , then

$$\begin{aligned} \sum_{v \in V(C_4^{(2,j)})} \mu(v) - \sum_{e \in E(C_4^{(2,j)})} \mu(e) &= (7t - 3 + j) + (7t - 3 + j + 1) + (6t - 3 + j) + (6t - 3 + j + 1) \\ &\quad - (t + j - 1) + (3t - j - 2) + (3t + 2(j - 1) - 1) - (3t + 2(j) - 1) \\ &= 16t - 3. \end{aligned}$$

## 4. Conclusion

We studied *H-E-SMGL* of fans, graphs obtained by joining a star  $K_{1,n}$  with one isolated vertex, books and grids in this paper.

## Acknowledgement

The anonymous referees contributed beneficial suggestions and constructive criticism that strengthened the article's content and readability, for which the authors are delighted.

## Competing Interests

The authors declare that they have no competing interests.

## Authors' Contributions

All the authors contributed significantly in writing this article. The authors read and approved the final manuscript.

## References

- [1] J. A. Gallian, A dynamic survey of graph labeling, *The Electronic Journal of Combinatorics* (2024), #DS6, DOI: 10.37236/27.
- [2] S. W. Golomb, How to number a graph, in: *Graph Theory and Computing*, R. C. Read (editor), Academic Press, New York, 23 – 37 (1972), DOI: 10.1016/B978-1-4832-3187-7.50008-8.
- [3] A. Gutiérrez and A. Lladó, Magic coverings, *Journal of Combinatorial Mathematics and Combinatorial Computing* **55** (2005), 43 – 56, URL: <https://combinatorialpress.com/jcmcc-articles/volume-055/magic-coverings/>.
- [4] H. M. Hafez, R. El-Shanawany, and A. A. El Atik, Odd harmonious labeling of the converse skew product of graphs, *Bulletin of the Institute of Combinatorics and its Applications* **98** (2023), 90 – 110, URL: <https://luca-giuzzi.unibs.it/ICA/Volumes/98/Reprints/BICA2022-39-Reprint.pdf>.
- [5] R. Ichishima and F.-A. Muntaner-Batle, On the super edge-magicness of graphs with a specific degree sequence, *Open Journal of Discrete Applied Mathematics* **6**(3) (2023), 22 – 25, URL: <https://pisrt.org/psrpress/jodam/2023/3/on-the-super-edge-magicness-of-graphs-with-a-specific-degree-sequence.pdf>.
- [6] K. Iyappan, A. Loganathan and D. Kumar, H-E-supermagic labelings of some families of graphs, *Nonlinear Studies* **31**(3) (2024), 957 – 963, URL: <https://www.nonlinearstudies.com/index.php/nonlinear/article/view/3709>.
- [7] D. Kavitha, S. Radhakrishnan and D. Kumar, E-super edge magic graceful labeling of graphical image of trisomy ultrascan, *Mathematics in Science, Engineering, and Aerospace* **16**(1) (2024), 147 – 156, URL: <https://nonlinearstudies.com/index.php/mesa/article/view/3842>.
- [8] S. S. Kumar and G. Marimuthu, H-E-super magic decomposition of complete bipartite graphs, *Electronic Notes in Discrete Mathematics* **48** (2015), 297 – 300, DOI: 10.1016/j.endm.2015.05.044.
- [9] D. Kumar, S. V. Kumar and J. S. Lawrence, Even vertex in-magic total labeling of digraphs, *Proyecciones Journal of Mathematics* **44**(1) (2025), 1 – 8, DOI: 10.22199/issn.0717-6279-5866.
- [10] A. Lladó and J. Moragas, Cycle-magic graphs, *Discrete Mathematics* **307**(23) (2007), 2925 – 2933, DOI: 10.1016/j.disc.2007.03.007.
- [11] S. Murugan and S. C. Kumar,  $C_m$ -E-super magic graceful labeling of graphs, *Malaya Journal of Matematik* **7**(4) (2019), 716 – 719, DOI: 10.26637/MJM0704/0015.
- [12] S. Mutharasu, D. Kumar and N. M. Bernard,  $V_k$ -super vertex out-magic labeling of digraphs, *Punjab University Journal of Mathematics* **51**(7) (2019), 35 – 41.
- [13] A. Rosa, On certain valuations of the vertices of a graph, *Theory of Graphs* (International Symposium, Rome, July 1966), Dunod Gordon & Breach Science Publishers, Inc., New York and Dunod, Paris, pp. 349 – 355.

